RERNMNEZREHZEEFREFR(BEIUEEIX) KB
TRi264E 128 14T
1 2 3 4 5 rFTEEBRESE ENEBE 10 11
BEALEEEG IEE BEALEE | BruoaEE | = oz | BEWCHUL | HENREE |68 K |TTREORE |88 0 H |oFZEORE |E # H| B EE
BHRE (38+10) (4+5+6+8)| pEsuy (BEOHSE) (TEEBL) | E2H-EOR 0EEL) |EBH-FOH (2—3) (3+2)%
[ _?-fSIJJ':%%HZ ] [ 125,980 125,605 61,108 48,097 12,368 630 3 13 64,497 48.65
EWWERE JI «| 137200 136,955 60,901 45,806 14,404 678 1 13 76,054 44.47
&t 263,189 262,560 122,009 93,903 26,772 1,308 4 26 140,551 46.47
1 2 3 4 5 rFTEEBRES ENBESE 10 11
IEE BEALE | BrupaEE | = oz | BEWBYS | HEmRE 61 % |[7FzEoRE [s# % |irzmmoxx (& # B BE=
BHEANLRE ERE (38+10) (4+5+6) | pEEpmy (BEOHEE) (72E8) | £RH=-EOHK (9%BL) |E2H-EOHK (2—-3) (3+2)%
& & 2 125,920 125,545 61,095 48,097 12,368 630 3 64,450 48.66
£ 137,131 136,877 60,888 45,806 14,404 678 1 75,989 44 .48
&t 263,051 262,422 121,983 93,903 26,772 1,308 4 140,439 46.48
1 2 3 4 5 rFTEEBRES ENBESE 10 11
IEE HABEARE| BPLEEEE | = oz | REWBYS | HesmE 61 % |[7FzEoRE [s# % |irzmmoxx (& # B BE=
TENEZ AN ERE (38+10) (4+5+6+8)| mEsmy (BEOHEE) (72E8) | £RH=-EOHK (9%BL) |E2H-EOHK (2—3) (3+2)%
ZEERD |= 60 60 13 13 47 21.67
£ 78 78 13 13 65 16.67
&t 138 138 26 26 112 18.84




